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Answer:	
	
#______________		ℎ(𝑥) = 	√𝑥 + 3	,		𝑗(𝑥) = 	𝑥!	
	
Find	8"

#
9 (𝑥)	

	
To	move	on	in	the	circuit,	find	the	domain.	
_______________________	

Answer:		𝑥 > 2	
	
#______________	𝑘(𝑥) = √1 − 𝑥!	
	
Find	8$

#
9 (𝑥)	

	
To	move	on	in	the	circuit,	find	the	domain.	
_____________________	
	

Answer:		all	real	numbers	
	
#______________		𝑑(𝑥) = 2𝑥 + 1, 𝑤(𝑥) = 	√𝑥	
 
Find	𝑑(𝑤(𝑥))	
	
To	move	on	in	the	circuit,	find	the	domain.	
________________________ 

Answer:		−1 ≤ 𝑥 ≤ 1, 𝑥 ≠ 0	
	
#______________		𝑟(𝑥) = 3𝑥 − 2, 𝑡(𝑥) = 𝑥 − 1	
	
Find	rS𝑡(𝑥)T	
	
To	move	on	in	the	circuit,	find	the	domain.	
_____________________	
 

Answer:		𝑥 ≥ − %
!
	

	
#______________		𝑐(𝑥) = %

&
	 , 𝑛(𝑥) = 2𝑥 + 3	

	
Find	𝑐S𝑛(𝑥)T	
	
To	move	on	in	the	circuit,	find	the	domain.	
________________________ 

Answer:	𝑥 ≥ −3, 𝑥 ≠ 0	
	
#______________	ℎ(𝑥) = 	√𝑥 + 3	,		𝑗(𝑥) = 	𝑥!	
 
Find	8#

"
9 (𝑥)	

 
To	move	on	in	the	circuit,	find	the	domain.	
_____________________ 

Answer:		𝑥 > −3	
	
#______________		𝑚(𝑥) = 	√𝑥 − 2		, 𝑏(𝑥) = 	√𝑥 + 4	
 
Find	8'

(
9 (𝑥)	

	
To	move	on	in	the	circuit,	find	the	domain.	
____________________________	

Answer:		𝑥 ≠ )
!
	

	
#______________		Find	𝑛(𝑐(𝑥))	
	
	
	
To	move	on	in	the	circuit,	find	the	domain.	
_____________________	

Answer:		−1 < 𝑥 < 1	
	
#______________			Find	8#

$
9 (𝑥)	

	
	
	
To	move	on	in	the	circuit,	find	the	domain.	
__________________________	
 

Answer:		𝑥 ≥ 2	
	
#______________		𝑚(𝑥) = 	√𝑥 − 2		, 𝑏(𝑥) = 	√𝑥 + 4	
 
Find	8(

'
9 (𝑥)	

	
To	move	on	in	the	circuit,	find	the	domain.	
________________________	
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Answer:		𝑥 ≠ 0	
	
#______________	Find	(𝐿 ∘ 𝑌)(−2) 

Answer:		1	
	
#______________		Find	(𝑌 ∘ 𝑌)(−2.5) 

Answer:		-1	
	
#______________		Find	(𝐿 ∘ 𝐿)(−3)	

Answer:		2	
	
#______________		Find	(𝐿 ∘ 𝑌)(−1) 

Answer:		-2	
	
#______________		Find	(𝑌 ∘ 𝐿)(1) 

Answer:		𝑥 ≥ −1	
	
#______________		Find	w(𝑑(𝑥))	
 
 
 
To	move	on	in	the	circuit,	find	the	domain.	
________________________	

Answer:		0	
	
#______________		Find	(𝑌)(0.5) 

Answer:		𝑥 ≥ 0	
	
#______________		𝑧(𝑥) = 3𝑥 + 4	, 𝑢(𝑥) = √𝑥 + 1	
 
Find	𝑧(𝑢(𝑥))	
	
To	move	on	in	the	circuit,	find	the	domain.	
___________________________	

 


